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Q1) Identify which of the following motion line graphs (A-D) represents an object that is:

i)  moving in a negative direction and losing speed.


          A
    B
       C

D
      no match

ii)  moving in a positive direction and gaining speed at a slow rate


          A
    B
       C

D
      no match

iii)  travelling at a steady rate in a positive direction.


          A
    B
       C

D
      no match

iv)  at rest for an extended time.


          A
    B
       C

D
      no match

v)  moving in a positive direction but losing speed.


          A
    B
       C

D
      no match

vi)  moving in a positive direction and gaining speed at a rapid rate.


          A
    B
       C

D
      no match

Q2)  Given below is a velocity-time graph displaying the behaviour of a race cart along a linear (straight) track.  










a)  during which time interval(s) did it travel in a positive direction?

     0-10 sec.
       10-15 sec.
          15-30 sec. 
  30-40 sec.
         40-55 sec.
b)  during which time interval(s) did it travel in a negative direction?

     0-10 sec.
       10-15 sec.
          15-30 sec.
  30-40 sec.
         40-55 sec.

c) (how far did the cart travel in the first 10 seconds?  

    (what was its average acceleration during this time interval?

d)  briefly describe its behaviour between 10 and 15 seconds.

It is moving at uniform velocity of 60ms-1 for ten seconds.
e)  what was its average acceleration between 10 and 15 seconds?


f) (how far did it travel between 15 and 30 seconds?

    (what was its average acceleration during this time interval? 

g) (how far did it travel between 30 and 40 seconds?  

    (what was its average acceleration during this time interval?

It is accelerating in the opposite direction.
h) (how far did it travel between 40 and 55 seconds?

    (what was its average acceleration during this time interval?

It is decelerating in the opposite direction.
i)  (what was the total distance it travelled? 

Add up all the distances from each section of the graph together

(what was its final displacement?

It’s  a linear track so any distance travelled in the opposite direction will have an impact on the overall displacement. 

j)  (what was the cart’s average speed for the entire 55 seconds?

    (what was the cart’s average velocity for the entire 55 seconds?
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(60-0)/10 = 6ms-2





(60*10)/2 = 300m





(60*15)/2 = 450m





Zero acceleration





(0-60)/15 = -4ms-2





1550/55 = 28.18ms-1





550/55 = 10.0ms-1





(300+300+450) – (200+300) = 550m





1550m





(0-40)/15 = -2.67ms-2





(40*15)/2 = 300m





(40*10)/2 = 200m





(40/10) = 4ms-2





Sorry birdie, hate to ruffle your feathers but I possess greater velocity than yours.  I moved at 1ms-1.  you haven’t moved at all.  Your velocity is zero!!! You’d better read your textbook, I’ve read it, read it, read it.





I flew 130meters and back in 10 seconds.  You only managed to jump 10 meters during that time.  Admit it you toad, my velocity is much greater than yours! 








